SURDS 2008-10

Leave\
blank
3. Simplify
5-+/3
2++/3
giving your answer in the form a + bV3, where a and b are integers.
)
Q3
(Tﬁtal nat 'r\S) '_]

N 2 5 5 6 1 A 0 4 2 4



3. Expand and simplify (N7 +2)(N7 - 2). "
)
Q3
(Total 2 marks) F]
5
0V 000 0 A 0 Turn sver
N 3 0 0 81 A O 5 2 8



1. Simplify
@ (3V7)
(1)
(b) (8+5)(2-V5)
(3)

(Total 4 marks)

Leave |
blank

H 3 4 2 6 2 A 0 2 2 8



Leave\
blank
2. (a) Expand and simplify (7 + V5)(3 = V5).
©)
(b) Express 7415 in the form a+b <5, where a and b are integers.
3+15 3)
Q2
(Total 6 marks) F]
3
) 0 O O Turn over
N 3 4 8 5 4 A0 3 2 8



1. Write
V(75)-V(27)

in the form k+'x, where k and x are integers.

()

(Total 2 marks)

Leave |
blank

H 3 5 3 8 3 A0 2 2 8



